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QUESTION 1 
Managers of a company should only be able to see payroll data for their region within the region 
dimension in the payroll cube and only for the people that they manage in the employee dimension. 
However, in the forecast cube, they see data for all regions. 
Which type of security should be set on the payroll cube? 
 

A. Cube level security 

B. Dimension level security 

C. Element level security 

D. Cell level security 

 
Answer: D 
 
 
QUESTION 2 
Which three statements are true about persistent feeders when they are enabled on a TM1 Server? 
(Choose three.) 
 

A. The feeders are stored alongside the cube data in a .feeders file, 

B. Memory size is affected by persistent feeders. 

C. Using the Persistent Feeders feature will increase the system size on disk. 

D. Saved feeders are loaded during server startup 

E. Query performance is improved. 

 
Answer: ACD 
 
 
QUESTION 3 
You want to create documentation which is stored on the TM1 Server. You need to create a cube 
in which you can hold user entered text comments on all processes on the TM1 Server. 
Which two dimensions would you use? (Choose two.) 
 

A. The \}Processes control dimension 

B. A dimension with a string item 

C. \}ConnectionProperties control dimension 

D. The \}PerfCubes control dimension 

 
Answer: AB 
 
 
QUESTION 4 
A user has locked a cube to prevent any data entry. 
Which statement about the cube is true? 
 

A. Only admin users will be able to update the data in the cube; the lock will expire when the user who  
applied the lock disconnects from the server. 

B. No users will be able to update the data in the cube; the lock will expire when the server is re- started. 

C. Only admin users will be able to update the data in the cube; the lock must be removed by the user  
who applied the Lock. 

D. No users will be able to update the data in the cube; the lock will remain when the server is re- started. 

 
Answer: D 
 



 
QUESTION 5 
Which configuration allows for greater concurrency of read and write operations on the same cube 
object? 
 

A. Persistent Feeders 

B. Skipcheck 

C. Parallel Interaction 

D. Data Reservation 

 
Answer: C 
 
 
QUESTION 6 
What will display information about which user has added a new item to a dimension? 
 

A. View message log 

B. View transaction log 

C. View audit log 

D. Security assignments 

 
Answer: C 
 
 
QUESTION 7 
Your customer wants to execute a TurboIntegrator process from a command-line scripting 
language (e.g. .bat file) as part of a sequence of commands. 
Which TM1 facility would be appropriate to use to accomplish the task? 
 

A. BatchSQL 

B. Execute 

C. RunT1 

D. TM1Top 

 
Answer: C 
 
 
QUESTION 8 
For each TM1 Server running, the Admin Server maintains which three components? (Choose 
three.) 
 

A. Server name 

B. Security permissions 

C. Port number 

D. IP address 

E. Web portal settings 

 
Answer: ACD 
 


